Appendix 1 : User-written SAS script used to compute the RDC.

As there is no SAS command to calculate the RDC, an “in house” SAS script was written based on the
article of Haste et al [14] :

- For any given patient and any given parameter (e.g. liver volume), the data consist of three
measurements made by the three physicians (X1, X2, X3).

- Then, we calculate the 6 possible ratios of these 3 measurements, specifically: X1/X2, X2/X1, X1/X3,
X3/X1, X2/X3 and X3/X2.

- Thus, for the n patients, we have a total of N = 6 x n ratios.

- The RDC (according to Haste et al.) corresponds to the 95th percentile (P95) of the distribution of
the N ratios. Thus it is necessary to rank all the N ratios.

- The 95% confidence interval (95%Cl) for RDC is then determined as follows:

o The lower limit of the 95%Cl is the ratio with rank “r”, where r is the greatest integer < N x 0.95 +
0.5-1.96 x V(N x 0.95 x 0.05)

o The upper limit of the 95%Cl is the ratio with rank “s”, where s is the smallest integer > N x 0.95 +
0.5+ 1.96 x V(N x 0.95 x 0.05)



